
 

 

Answer on Question #61965 –  Math – Calculus 

Question 

6 Find the integral with respect to x 

∫cosxsinxdx 

Solution 

∫ 𝑐𝑜𝑠𝑥𝑠𝑖𝑛𝑥𝑑𝑥 = ∫ 𝑠𝑖𝑛𝑥𝑑(𝑠𝑖𝑛𝑥) =
(𝑠𝑖𝑛𝑥)2

2
+ 𝑐 

Answer: 
(𝑠𝑖𝑛𝑥)2

2
+ 𝑐. 

Question 

7 Evaluate 

∫2−1y2+y−2dy 

Solution 

∫ (y2 + y − 2)dy
2

−1
= (

y3

3
+

y2

2
− 2y)

−1

2

= (
23

3
+

22

2
− 2(2)) − (

(−1)3

3
+

(−1)2

2
− 2(−1)) = −

3

2
. 

Answer: −
3

2
. 

Question 

8 Integrate with respect to x: 

∫2−1x2(x3+4)2dx 

Solution 

∫ 𝑥2(𝑥3 + 4)2𝑑𝑥

2

−1

=
1

3
∫(𝑥3 + 4)2𝑑(𝑥3 + 4)

2

−1

=
1

3
(

(𝑥3 + 4)3

3
)

−1

2

=
1

9
((23 + 4)3 − ((−1)3 + 4)3)

= 189 

Answer: 189. 

Question 

9 Integrate with respect to x: 

 ∫
𝑥

7+𝑥2 𝑑𝑥
3

−1
 

Solution 

∫
𝑥

7 + 𝑥2
𝑑𝑥

3

−1

=
1

2
∫

1

7 + 𝑥2
𝑑(𝑥2 + 7)

3

−1

=
1

2
ln(𝑥2 + 7) |

3
−1

=
1

2
ln (

32 + 7

(−1)2 + 7
) =

1

2
ln 2. 



 

 

Answer: 
1

2
ln 2. 

 

Question 

10. Integrate with respect to x: 

∫ (𝑥 +
1

√𝑥
) 𝑑𝑥

4

1

 

Solution 

∫ (𝑥 +
1

√𝑥
) 𝑑𝑥

4

1

= ∫ 𝑥𝑑𝑥

4

1

+ ∫
1

√𝑥

4

1

𝑑𝑥 =
𝑥2

2
|
4
1

+
𝑥−

1
2

+1

−
1
2

+ 1
|
4
1

=
𝑥2

2
|
4
1

+ 2√𝑥 |
4
1

=
42

2
−

12

2
+ 2√4 − 2√1 =

= 8 −
1

2
+ 2 ∙ 2 − 2 = 8 −

1

2
+ 4 − 2 = 9.5. 

Answer: 9.5. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

www.AssignmentExpert.com 


